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ẋ = P (x, y),
ẏ = Q(x, y)

(1)
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1) ;�# m = 1
{
ẋ = a0x+ a1y,
ẏ = b0x+ b1y,

(2)

2) ;�# m = 2
{
ẋ = a0x

2 + a1xy + a2y
2,

ẏ = b0x
2 + b1xy + b2y

2.
(3)
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ẋ =
∂F

∂y
+ a

∂F

∂x
F,

ẏ = −∂F
∂x

+ b
∂F

∂y
F,

(4)

8�� F (x, y) =
k∏
i=1

(x2 + y2 − ri)! ri ~ const # x2 + y2 = ri ~ ����/ �'�#! .%$.-?#�'.
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S�# ;���<��� � ���8� S�� ���� ��$��0 2�0� � X = x√

1+x2+y2
! Y = y√

1+x2+y2
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Ẋ =

√
1−X2 − Y 2

[
(1−X2)Q(X,Y )−XY P (X,Y )

]
,

Ẏ =
√

1−X2 − Y 2
[
(1− Y 2)P (X,Y )−XYQ(X,Y )

]
.
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bXY 2 − aXY 2 = 0
aX2Y − bX2Y = 0
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